HE - ROUIE e T MA~M16, 3/8

X5~ ~
@ik - =fHo0X—hk & 1 5~100. 16~50
| WAV EE-5 .

M@ - 188 - BT BIN—21L - BEICARZA

M5x8 WOOLH5-8 M12x15| WOOLH12-15 M4 x5 300LH4-5 M8 x50 300LH8-50 A
M5x10 WOOLH5-10 M12x20| WOOLH12-20 M4x6 300LH4-6 M8 x 55 300LH8-55 D
B H P M5x12 WOOLH5-12 M12x25| WOOLH12-25 M4x8 300LH4-8 M8 x 60 300LH8-60
! ! M5x15 WOOLH5-15 M12x30| WOOLH12-30 M4x10 300LH4-10 M8 x 65 300LH8-65 B
M5x20 | WOOLH5-20 M12x35| WOOLH12-35 M4 x12 300LH4-12 M8x70 300LH8-70
7 1.5 M5x25 | WOOLH5-25 M12x40| WOOLH12-40 M4x15 300LH4-15 M8x75 300LH8-75 0
8 2 M5x30 WOOLH5-30 M12x45| WOOLH12-45 M4x16 300LH4-16 M8 x 80 300LH8-80
10 2 M5x35 | WOOLH5-35 M12x50| WOOLH12-50 M4x18 300LH4-18 M8 x 85 300LH8-85 L
13 2 M5x40 | WOOLH5-40 M16x15| WOOLH16-15 M4x20 300LH4-20 M8x90 300LH8-90 T
14 2 M6 x10 WOOLH6-10 M16x20| WOOLH16-20 M4 x25 300LH4-25 M8 Xx 95 300LH8-95
17 3 M6 %12 WOOLH6-12 M16x25| WOOLH16-25 M4 x30 300LH4-30 M8x100| 300LH8-100
22 5 M6 x15 WOOLH6-15 M16x30| WOOLH16-30 M5x8 300LH5-8 M10x10 [ 300LH10-10
M6 x16 WOOLH6-16 M16x35| WOOLH16-35 M5x10 300LH5-10 M10x12 | 300LH10-12
M6 x18 WOOLH6-18 M16x40 | WOOLH16-40 M5x12 300LH5-12 M10x15 | 300LH10-156
Mé x 20 WOOLH6-20 M16x45| WOOLH16-45 M5x15 300LH5-15 M10x20| 300LH10-20
M6x25 | WOOLH6-25 M16x50| WOOLH16-50 M5 %20 300LH5-20 M10x25| 300LH10-25
M6x30 | WOOLH6-30 |[(W3/8x16|WOOLHW3/8-16| | M5x25 300LH5-25 M10x30| 300LH10-30
M6x35 | WOOLH6-35 |[(W3/8x20|WOOLHW3/8-20| | M5x30 300LH5-30 M10x35| 300LH10-35
M6x40 | WOOLH6-40 |[(W3/8x25/WO0LHW3/8-25| | M5x 35 300LH5-35 M10x40| 300LH10-40
M6 x 45 WOOLH6-45 W3/8 x 32| WOOLHW3/8-32 M5 x 40 300LH5-40 M10x45| 300LH10-45
M6x50 | WOOLH6-50 ||W3/8 x 38/ WOOLHW3/8-38| | M5x45 300LH5-45 M10x50| 300LH10-50
M8 x10 WOOLH8-10 ||W3/8 x40/ WOOLHW3/8-40| | M5x50 300LH5-50 M10x 55| 300LH10-55
M8 x12 WOOLH8-12 | (W3/8 x 45| WOOLHW3/8-45| | M5x 55 300LH5-55 M10x 60| 300LH10-60
M8x14 WOOLH8-14 |(W3/8x50{WOOLHW3/8-50] | M6x10 300LH6-10 M10x 65| 300LH10-65
M8x15 WOOLH8-15 M6 x12 300LH6-12 M10x70| 300LH10-70
M8 x16 WOOLH8-16 M6 x14 300LH6-14 M10x75| 300LH10-75
M8x18 WOOLH8-18 M6 x15 300LH6-15 M10x80 | 300LH10-80
M8x20 | WOOLH8-20 M6 x16 300LH6-16 M10x85| 300LH10-85
M8 x 25 WOOLH8-25 Mé6x18 300LH6-18 M10x90| 300LH10-90
M8x30 | WOOLH8-30 M6 x 20 300LH6-20 M10x95| 300LH10-95
M8x40 | WOOLH8-40 M6 %25 300LH6-25 M10x100| 300LH10-100
M8x45 | WOOLH8-45 M6 x 30 300LH6-30 M12x15 | 300LH12-15
M10x16 | WOOLH10-16 M6 x 35 300LH6-35 M12x20| 300LH12-20
M10x20 | WOOLH10-20 Mé x 40 300LH6-40 M12x25| 300LH12-25
M10x25| WOOLH10-25 M6 x 45 300LH6-45 M12x30| 300LH12-30
M10x30| WOOLH10-30 M6 x50 300LH6-50 M12x35| 300LH12-35
M10x35 | WOOLH10-35 M8x10 300LH8-10 M12x40| 300LH12-40
M10x40| WOOLH10-40 M8x12 300LH8-12 M12x45| 300LH12-45
M10x 45| WOOLH10-45 M8x14 300LH8-14 M12x50| 300LH12-50
M10x 50| WOOLH10-50 M8 x15 300LH8-15 M12x55| 300LH12-55
M10x55| WOOLH10-55 M8 x 20 300LH8-20 M12x60| 300LH12-60
M10x 60| WOOLH10-60 M8 x 25 300LH8-25 M12x65| 300LH12-65
M10x 65| WOOLH10-65 M8 x 30 300LH8-30 M12x70 | 300LH12-70
M10x70| WOOLH10-70 M8 x40 300LH8-40
M10x75| WOOLH10-75 M8 x 45 300LH8-45
a Fa L‘ & h ﬂ ‘: : 5 - XSTYTPYIRPERKEBRICRDBENBDET
HE!HIE i II :=It 5 03-3755-2913
TOMITARASHI 0..,.LTD

T146-0082 ﬁ:ﬁ%ﬂk&l&i@.ﬂ-m% X< info@tomitarashi.com



